TRieaR T YR & R S A B e 78 WEd 2 3R 3 %967 wfid OMR SR vie 3t e Tden gRa®I . :

Candidates should open the top side of the seal of this Booklet and take Test Booklet No. :
out the OMR Answer Sheet placed between page no. 2 and 3.

uﬁaﬂgﬁ?@‘rw: 1 3
M2-R5 : WEB DESIGNING AND PUBLISHING Test Booklet Series :
fererifRa wor : 25 3iférepae 3 : 100
Time Allowed : 2 Hours Maximum Marks : 100
e . IR Me A
Roll No. : Answer Sheet No. :

TeE & ITR I A Use fereetterisia srgfaei @1 &mer A ug of |/ Read the following instructions carefully before you begin to answer the questions.

3FIGarRi & feTu argaer

Instructions to the Candidates

1.

No

yeell & 3R feTrel 3R el A Usel 31U § YRA®T Bl oirg
Fh Jhafdad &2 of 5 sa9d g¥ oo (24) ¥ den &g g A
AP HOT HH AT GART Al &l 31 IR & | IS 377 3 gRaamsr &
BIS A U, AT debler SAP Tact GH GRabT of |
STTHSTR ITR-2fie Uea gReamt & & 3uce 297 | Hu=n Jrerfeaa
& {6 AR ofic T 3R wherwr gRaw ww Jae E
3MTHA3MR 2fic TR SEBR! IR A Usd 3NTANR M ©R Bu
ferdel @ eTel A US| 31U INTHIR Ia3-Usles Uz Aail ferazol
BN AE T A T IR PBIS HAT 8191, VAT o PHel UR 3T TR
YR B FHeide T2l b oI JhdT ¥l TSN BT IR Al Y
B A Ul 3Uh! INTHIR IaR-UsTep TR & 91w fereriia enmer
TR 370U EIA1GR B 89T | g1 ferdell 1 gof U A uretsr fopen
ST AfET, AT F B TR US! NTANR IAR-GRaAHT B
FcIhel &l pa ST A &
3 Ueat-gRde & Her 100 Tgfasedia yea &1 o 3 fadl v
3i3reh Slal sl & Sucter & | Ui uee & 4 ey R owE,
(A), (B), (C) 3z (D) | Tt oft Rarfay & Ues weal HI Badt UH
e & FE IAT S| e 3MUhT Ueh A 31fers fadbeu A& oo ar
T 31T 3T U fIhey &1 gerra &2 3R IR e o Feafea
UE & ATHS ATl IUYET Oifel bl Bl B |
Ui AL IaT b feT0 1 31 T SIwar | Iretd 3= & foiu @is
APRIHSD 3idel o8l &
MY T BT B &b [oTU bact blat/eilet dict WIse Uel BT U
B3 | et B T TR BIAT el b dT SAH! [Tl AT dectel Bt
ST o & | ATe [pAt Teet b ATeTel Teb A SATGT 91led et (e
70 & ar HefieT g1 39 10 e 3iss fearm smeoT |
fepaft off Rerfa & 3av ofie o1 & A
IAR-YRABT TR B off T BTt ol weell & | 3% B F o 52
gt & vermer = o B
TSN FeA/BFN H AATgel Wiel dol IaR AR Alerel Gt e
eIt & | 3eefieary @ 3e0b 3ual fad & Haie & wirdl & b
TSl B/t 31 IR AR ATere bl g 316 Bp oft
370 UTA & TS | $A YTGETS BT SUTelel o HIel Bl Uam 3
sigfad Ul T =97 AT SR 3R 359d fa5g wrfdd &
SITEoN, TorAe 3oTeh! Ieailedars) g e off onfdeT 21
3raeft 3ruelt 3wR gRawT widere H AT fem iR e Je
saw & A 3Rrd T2rme R IulRifa s R gEaer e foen
et Eict/der A e S8l off APbdTl SHb 3ietrar 373efl Py
uRafa use ur w=deR Be A usd I8 oft Fghafdaa ween
aifae 5 gaeie daR, gaaie AW AR 3NTANR TR gRa®!
TE TE 301 A forsht ot A1 U A B R, INTAIR TR
B AT ATAT SCON/FeATH T& BT T ABaT & |

10. Tifs & Tzm=or & B oft </ fodorfer o ST 3, & 3 3raRen

H 37ISi HATBI0T & A B |

1. Before you start to answer the questions you must check this booklet
and ensure that it contains all the pages (24) and see that no page or
portion thereof is missing or repeated. If you find any defect in this
Booklet, you must get it replaced immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please
ensure OMR Answer-Sheet number and Test Booklet No. of
Question Paper are same. Read the instructions printed on
OMR Answer-Sheet carefully before filling the information
on the OMR Answer-Sheet. You must complete and code all
the details on the OMR answer sheet correctly, failing which
your answer sheet may not be evaluated. You must also put
your signature on the OMR Answer-Sheet at the prescribed
place before you start answering the questions. These
instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. This booklet consists of 100 Multiple Choice Questions and are printed
in Hindi and English language. Each question has 4 (four) alternatives
(A), (B), (C) and (D). In case if you find more than one correct
answer, then choose the most appropriate single option and darken
the appropriate circle in the answer sheet against the related question.

4. Foreach correct answer One mark will be given and no negative
marking for incorrect answer.

5. Use Black/Blue ball point Pen to darken the circle. Answer once

darkened is not allowed to be erased or altered. Against any question

if more than one circle is darkened, machine will allot zero mark for
that question.

Do not fold answer sheet in any case.

No rough work should be done on the Answer-Sheet. Space for

rough work has been provided in this booklet.

8. Mobile phones and wireless communication devices are completely
banned in the examination hallrooms. Candidates are advised not
to keep mobile phones/any other wireless communication devices
with them even in switched off mode, in their own interest. Failing to
comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including
cancellation of their candidature.

9. Candidate should not leave the examination halllroom
without handing over his/her Answer-Sheet to the invigilator
and without signing on the attendance sheet at proper place
against your roll number. Further candidate should also
ensure that booklet no., booklet series and OMR Answer-
Sheet No. are correctly written on attendance sheet before
signing on it, failing in doing so, may lead to disqualification/
no evaluation of OMR Answer-Sheet will be done.

10. In Case of any discrepancy found in Hindi version, English

No

version will be treated as final.
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I W3.Text H A TRZ 3TARTHE FATH Tal

X

(A) w3-left-align
(B) w3-right-align
(C) wB3-center

(D) w3-center-align

Which is not a valid text alignment class in
W3.Text ?

(A) w3-left-align
(B) w3-right-align
(C) w3-center

(D) w3-center-align

Her S fordl Hie sl o Fell T JadEe B
Wﬁﬁqﬁaﬂﬁ%

(A) <& ||
(B) @ qIf=T
(C) & HrehfeT
(D) o4& gfsaf¥i

Service which helps an organization to host
a website on the Web Server :

(A) Web Service
(B) Web Hosting
(C) Web Marketing

(D) Web Publishing

I H FATE WIS SHST T IS S © 2
(A)  w3-opacity

(B) w3-trans

(C) wB3-grayscale

(D) SR H ¥ HE T

Which class property makes an image
transparent ?

(A) w3-opacity
(B) w3-trans
(C) w3-grayscale

(D) None of the above

ZaaE ¥ fau W ufefen gn wem R W
Tt AT hi TEEH |

(A) e fmfo
(B) g fomsht
(C) wigd drere Hifean WHIfd
(D) STl |t

Identify benefits that are provided by Photo
Editing for Business.

(A) Brand Building
(B) Better Sales
(C) Robust Social Media Strategy

(D) All of the above
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frfafad § 9 s HTML H Teh b hl Shid
T &l § 2

SEHH (B) ITHH
(C) 1 %A Thde

Which of the following is not a type of Screen
frames in HTML ?

(A)

(D)

(A) iframe (B) uframe

(C) no frame (D) frameset
ferTer fefer o1 T 42 & T A
HTh TR femen T 7

(A) <a>

(B) <nav>

(C) <href>

(D) SR H ¥ HE Tl

A set of navigation links is defined using tag :
(A) <a>
(B) <nav>

(C) <href>

(D) None of the above

fafafea § @ fha & &1 3T TR S

TR T JRA T & forg fopan a2 2
(A) ng-repeat (B) ng-init
(©) ng-app (D) ng-model

Which of the following directives is used to
start an angular JS application ?

10.

W3.Table el o ferq =1 erd
IS T F €|

(A) w3-striped (B) w3-stripe

(C) w3-border (D) wB3-bordered

W3.Table does not provide the following class
for tables.

(A) w3-striped (B) w3-stripe
(C) wB3-border (D) w3-bordered
I HAF CSS TR T 8 7

(A) eI (B) T

(C) s (D) THESS

Which is not a valid CSS type ?

(A) Inline (B) External

(C) Outline (D) Embedded

I | A ThIfST AHE Aede++ H HiSE T8l
€2

(A) ANSI (B) UTEF-8

(C) UTF-8BOM (D) UTF-16

Which is not a valid encoding standard not
present in Notepad++ ?

(A) ANSI (B) UTE-8
(A) ng-repeat (B) ng-init
(€) ng-app (D) ng-model (C) UTE-8 BOM (D) UTEF-16
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11.

12.

13.

w3-color 3 w3-text-color FATIH h1 ST
Wl HeR HH & fau fran s gehan

7

(A) IS THIUATS TeHe

(B) Faa efem

(C) had TUTh TetrHe

(D) el eod TeitHe

w3-color and w3-text-color classes can be
used to color :

(A) any HTML element

(B) Heading only

(C) paragraph element only
(D)

D) table element only

W3.Image ¥ i< |l S0 Fd & 7Tl &, U=
ey

(A) w3-round (B)
(C) w3-border (D)

Identify which is not the correct Image Class
in W3.Image.

(A) w3-round (B)
(C) wB3-border (D)

w3-circle

w3-oval

w3-circle

w3-oval

hIe-Tfefdn giwedsr &t fagaet &t 99
Sy

(A) TRERT

(B) ¥E-3T= T

(C) i

(D) W At

Identify the features of photo-editing
software.

(A) Air brushing

(B) Red-eye removal
©

(D)

Cropping
All of the above

14.

15.

IR T <A BT STAM & fog

o ST 7

(A) T g TR

(B) HTehI oM

(C) A % 3i % f&ed il g
(D) T ¥ =i off 7

Rectangular Marquee tool is used for the
purpose of :

(A) Floating the marquee

(B) Creating marquee

(C) Selecting portion inside image
(D) None of the above

SIElE=a T A Gehel ® |

(A) HTML =

(B) HTML T&E dogsl

(C) HTML &r5c™

(D) STl |l

JavaScript can change :

(A) HTML Content

(B) HTML Attribute Values
(C) HTML Styles

(D) All of the above
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16.

17.

Hwaey H Yeioa™ (PseudoClass) & o H

T S ol TEE Y :

(A) I8 CSSH Rt U Teied A ©

(B) ¥ oTEeh i xS H fod ®9 H =i
& i T WA qeh UEE USH i §

(C) YSIoAd Fl TeiTHe o M ¥ 3TSWhR gN

3FeT feran T §

JEIFTH Sl TeltHe o A1 H Teh hla™

SR STeRT fefa ST &

Identify the incorrect statement about a

PseudoClass in CSS.

(A) Itis a style class defined in CSS

(B) It gives the author access to content not
specifically declared in the document

(C) Pseudoclass is separated by an

underscore from the name of the

element

Pseudoclass are separated by a colon

from the name of the element

GelSE WIEd Ted & N § =11 §al 7 © 2

(A) Tdee WrEa e Tk 990 CSS T&mes
%! T XHTML <K& & &1 91 ¥
TR O H EH S

(B) oI Holoed hl ITAN TS WiEd e
CACRIIS IE

(C) It 9 H YR foRivar Aeiuds e
Hel TRAETH (MIME) WehR <kl Ff<se shat
T S e |l o wE §

(D) it e we €

What is not correct about Embedded Style

Sheets ?

(A) Embedded style sheets enable to embed
an entire CSS document in an XHTML
document’s head section

(B) Class Selectors are used in Embedded
Style sheets

(C) The style element’s type attribute

specifies the Multipurpose Internet Mail

Extensions (MIME) type that describes

a file’s content

All the statements are correct

(D)

(D)

(D)

18.

19.

20.

HTML &) ¥ FiH-8Wifesh TelHed &l Jgam™
2

(A) <div> (B)
(C) <table> (D)

<form>
<article>

Identify the non-semantic elements in HTML
tags.

(A) <div> (B)
(C) <table> (D)

<form>

<article>

TP foRrear o1 SUENT foha Teftde W fwan
ST HRA1 8 ?

(A) ERRCS

C) faorw (D) YUK |t

Autofocus attribute can be used on which
element ?

(A) Button (B)
(C) Select (D)

ol (B)

Input
All the above

HTML % <label> & % & § o1 9t &1 © 2

%% HIH el o TeTL Teh efeel shi TR
T

(B) ®hIA-TeX IuANTRaiaAl o forg Suawft
(C) Sfteenfod SuarTeRdiatl o fore Su=mh
ST H 8 HIE T

What is not true about the <label> tag of
HTML ?

(A)

(D)

Defines a label for many form elements
B) Useful for screen-reader users

) Useful for visually challenged users

(
(C
(D) All the above

Page 5/13

SPACE FOR ROUGH WORK

M2-R5/01-23



21.

22.

THIe S WIEd Ve o IR H 1 99 78 2

(A) IE TH T SfRgHe ¢ o haa deaed
frem wnfaer €

(B) UE e hl YSIe¥H | ST hidl § Tfh
At aroft off weh & Wiz ¥ Huifed €

(C) I e 3R WEA I STH- T Hgadl
T faufod o

(D) =% 99 fesER &R TH e A Hl
TR o T A 1 STTAR a1 §

What is not true about External Style sheet ?

(A) Itis a separate document that contains
only CSS rules

(B) It separates content from the
presentation but both are still contained
in a single file

(C) It separates the content and style into
separate files

(D) It allows a web designer and a content
author to work in parallel

F 91 fheet widl &t féz o & foe v g
T T fheer e 9t BRATHI & faer |
amenfiE § 2

A) 3 e

B) I e

) e fimeet

C
D) T @ i off

Which Filter is based on the idea of
photographers adding colored filters to the
camera lens to tint the photo ?

(A) Image Filter
(B) Photo Filter
(C) Artistic Filter
(D

(
(
(
(

)
)

None of the above

23.

24.

<del> TeliHe 39 T2 1 R & & f59
frell Sfergde 9 31 foar T 81 9eeR 3%

w9 H yfiq & 7
(A) (B) TEHY
(C) dwics (D) & HeR

<del> element defines text that has been
deleted from a document. Browser display
them as :

(A) Red color (B)
(C) Bold (D)

Strikethrough

Black color

"Rt ok SR H T HEHl i TEAM hi 2

(A) FonIST YU B § ST 99— TS o SRIISS
H = §

(B)  FohlsT H STANTRIS ohl TTIIIC oh1 S&eH
FHH o fIT TR foRT ST T & ©

(C) 3iiaed SIfuT e Uferehyd, Safedend
ot fashfad s 3R dJarmeel W fommm
T IqATeRdiel W TSR W H Fehlsl ogd
HERMR &

(D) Fehrsd § 4 Kb & 31ferer a1 7 & wehell

Identify the wrong statements about
“Cookies” ?

(A) Cookies are programs which run in the
background of the web-client

(B) Cookies have the potential of being
used to violate the privacy of users

(C) Cookies are very helpful in keeping
track of users in developing online
shopping cart, applications,
personalized portals and in advertising
on websites

(D) Cookies cannot contain more than 4 Kb
of data
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25. & ISR ASH FHE H THREEES TelHe W | 27, W3.CSS Frfafad et s J&H el il § :
S JeIFATE Tfeede B STl 5
3 (A) T3-S
(A) WHH 3R (B) TEY3-ACT-TEE
(B) HIHH IR (C) T=I3-ATESI-dlH
(C) TR (D) TTR-FE-TH
(D) w9 Ha W3.CSS does not provides the following
border class :
The pseudoclass is activated
when the user moves the mouse cursor over (A) w3-border-top
the specified element.
(B) w3-border-right
(A) mouse over
(C) wB3-border-bottom
(B) mouse hover
(©) hover (D) w3-border-gutter
(D) mouse move
28. T 3fg 1 Gefidq e €1
26. fAfafEd § 9 forder 7o FR9 (Directives) (A) THS H Had BIUES FgH & fog
% U (prefix) % €9 H foran ST Teha1 § 2
(B)  fort it eRIL okl Gfsham A1 ST il Uehfdsh
(A) s B % T T Henfud a1 e §
(B) ng- (C) Fad TS H SHURE TQH o faIg
(©) (A) R (B) 3T (D) T A
(D) ST H | HIE &I Color enhancement refers to
Which of t'he following can be used as a prefix (A) Enhance only foreground of image
for Directives ?
(A) data (B) Any type of process or treatment that
modifies or enhances the color of a
(B) ng- natural diamond
(C) Both (A) and (B) (C) Enhance only background of image
(D) None of the above (D) None of the above
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29.

30.

31.

ZTdfde HTML 392 sl J8<M i |

(A) unload (B) load

(C) onmouseout (D) onmouseover
Identify the invalid HTML event.

(A) unload (B) load

(C) onmouseout (D) onmouseover
W3.List § %1 T s fowe 2=y 7 § 72
(A) Small (B) XSmall

(C) Large (D) XLarge
Which is not a valid list type in W3.List ?
(A) Small (B) XSmall

(©) Large (D) XLarge

CSS #H wsHIeyge difsif o foaw @@l e =it

g™ W 7

(A) T T TT=eR Fuif difserf &

(B) ¥ TsHIcye Uifsifa =n1 aftwfyd v &
fau deaed w5t qfseE w9 SwEm
2GR

(C) I " ! UelHed &l JRRfA & &
Tk W 2 Frir Sar ®

(D) I H ¥ wg off w92 T ©

Identify the correct statement for Absolute
Positioning in CSS ?

(A) Itis a browser determined positioning

(B) It uses the position property of CSS is
used to define absolute positioning

(C) It gives authors greater control on how
elements are displayed

(D) None of the above statements are
correct

32.

33.

34.

qede++ H @EAl &1 foum & fau widae
i

A) Alt+H

B) Shift+H

C) CTRL+H

D) WK H ¥ &L T

Shortcut keys to hide lines in Notepad++ :

(
(
(
(

(A) Alt+H

(B) Shift+H

(C) CTRL+H

(D) None of the above

it o A T
T &I TH Y HHfed L |

(A) tag (B) class

©) id (D) div

To cluster a group of elements together to
apply formatting

(A) tag (B)
C) id (D) div

class

i d HeHwE i dfce SHuee W TE © ?
(A) SHUSS-3AN

(B) FFTRE-dE

(C) TRTRS-HR

(D) SFURS-3E

Which is not a valid Background property of
CSS ?

(A) background-image

(B) background-position

(©) background-color
(D)

D) background-iterate
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35.

36.

9t fordt TeliHe § TR i Ugal
iferd bt 82 I Y 3TN AT 7

(A) text-first

(B) text-indent

(C) first-indent

(D) text-first-indent

The property allows to indent the
first line of text in an element.

(A) text-first
(B) text-indent
(C) first-indent

(D) text-first-indent

T B 39 HY T S S ?
(A) & TTH 3 Sirer < §
(B) e T H et el W1 §
(C) & &1 H T Sl S §
(D) 7 ¥ HE ot 7

How are tones created in Images ?
(A) When grey is added to a color
(B) When black is added to a color
(C) When white is added to a color

(D) None of the above

37.

38.

Frete++ H HIA A1 HAIR GIg 7 ?

(A) ASCII to HEX

(B) ASCII to OCT

(C) HEX to ASCII

(D) (A) TR (C) =

Which converter is present in Notepad++ ?
A) ASCII to HEX

B) ASCII to OCT

~—"

(
(
(C) HEX to ASCII
(

D) Both (A) and (C)

ST 99 Gol 1 1 1§ ?

(A) T fafbre sEdt wgw d <@ A #
AR T

(B) T faftre ISR wgw & WA M &I
STAI T

(C) T fafere IHd § S/HA A 1 TR
AT

(D) T fafire uwddt wgH | SHA A A
STAIS T

What is the task of DNS Name server ?

(A) Translating domain names into a
specific IP address

(B) Translating domain names into a
specific UDP address

(C) Translating domain names into a
specific TCP address

(D) Translating domain names into a
specific FTP address
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39.

40.

41.

sHafeTe 3HS fihee &t 9eaM Hi|
(A) HI¥A R (B) T=S® M
(C) fosimE (D) Wiefifewe

Identify the invalid image filter.
(A) Motion Blur (B) Plastic Wrap
(C) Liquify (D) Solidify

W3.Table # ¥~ Zacll o IR H 9 91 HeA

T Tol 2

(A) w3-TEIT-Ta FE Th SAGRT dqTerhT
EEIIE

(B) T DI B W &Sl &9 § Bhicl hidl ©

(C) w3-2dd FATH Teh Tif~al ZoIet ST §

(D) o BRI W, g AR TE ©

Which statement is not true about responsive
tables in W3.Table ?

(A) wB3-responsive class creates a responsive
table

(B) It scroll horizontally on small screens
(C) wB3-table class creates a responsive table

(D) on large screens, there is no difference

i b1 TSR TN 781 § S Aleus++ §
HISR T € 2

(A) MD5

(B) SHA-256

(C) MDé6

(D) (&) 3 (B) =T

Which is not an encryption algorithm not
present in Notepad++ ?

(A) MD5

(B) SHA-256

(©) MD6

(D) Both (A) and (B)

42,

43.

a1 fesme & Safre F1 @ fi 2
(A) AU F hewe i uRRefid w7
(B) Sedsi w1 yeTse fHfds e ®
(C) s & farfoer 1 wom €
(D) ST § § HIE Tl

What is the role of JavaScript in web design ?
(A) define the content of webpages

(B) specify the layout of webpages

(C) program the behavior of webpages

(D) none of the above

W3.Font ¥ 3fem & fau =9 91 %o T &l
7?2

(A) Segoe Ul &fém & fou fewiee wi< ©

(B) Segoe UL H 31ftreh A oiex wafdm &

(C) ey, fema o %m den § s1eri &t STHfd
LRIk

(D) ToH Bl ST AN <h6> 7

Which statement is not true for the headings
in W3.Font ?

(A) Segoe Ulis the default font for headings

(B) Segoe UI has a more narrow letter
spacing

(C) Headings allow a lesser number of
letters in the headings

(D) Smallest heading tag is <h6>
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45.

46.

(A) < (B)

(C) uHT (D) STt

Which is not a vibrant color ?

(A) Red (B) Orange
(C)  White (D) Purple

3G TSR ! TgaH e it HTML 5 27 T&d X
Hehll & ?
Ot}

(A) T (B)

(C) T (D) ST |l

Identify the browser which can render
HTML 5 tags.

(A) Safari (B) Chrome

(C) Edge (D) All the above
HTML T30l % # shi qfteisher

T Y Syt 7

(A) ng-app (B) ng-init

(C) ng-model (D) ng-controller

binds the value of HTML controls
to application data.
(A)

ng-app (B) ng-init

(C) ng-model (D) ng-controller

47.

48.

TR JS T o aR H A HeH i 9gar

Sy

(A) <=d9d SfsT o ST fora - {{expression}}

B) Tk erfeea & I3 fa@n
ng-bind="expression”

(C) fistee Ik o e € Sl weadeH ferat
TR

WER JS TSR STETGhte TR H ST
g

Identify the invalid statement about Angular
JS Expressions.

(D)

(A) written inside double braces:
{{ expression }}
(B) written inside a @ directive:

ng-bind="expression”

(C) return the result exactly where the
expression is written

Angular JS expressions are different
from JavaScript expressions

W JS H ng-repeat directive o & H 1 T2l

TRI7?

(A) TH HTML UEAHe 1 rear §

(B) HUB H Y 3ZeH o foll Teh IR HTML
UEATHSH ol FA T §

(C) Teolaed % Teh W W FANT fhan < &

(D) TIER JS TeteheM o foiw Urfyres AT o
wfufoa e &

What is not true about ng-repeat directive in
Angular ]S ?

(A)
(B) clones HTML elements once for each
item in a collection

repeats an HTML element

(C) wused on an array of objects
(D) defines initial values for an Angular JS

application
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49.

50.

51.

TgaM i foh <section> TATHS T YA el
IERIRS IR Con

(A) =red (B) SgrewRm

(C) I A (D) W qf

Identify where a <section> element can be
used.

(A) (B) Introduction
(C) News Item (D) All the above

Chapters

D) e @
What does the .edu domain represents ?
Education domain

B) Commercial domain

E-Learning domain

Entertainment domain

CSS % o H hiF A1 FHIT T 7 § 2
(A) CSS HEhfen WEd e §

(B) UK & T e
(
(

C) U I forsgeral cistse Tmaa i
D) et % W % A
Which is not true about CSS ?

(A) CSS is Cascading Style Sheet
(B) Separate content from presentation
(C

(D

) Establish visual layout of a Webpage
)

Markup the content of the webpage

52.

53.

W3.CSS & oI H o1 Tel el 82

W3.CSS Tah 3TEfeh, STRGEMET, HieEd
el HUEed e ©

(B) W3.CSS |+l 9srll o faq WM J&H
EZGIE

(A)

(C) W3.CSS gt Iuehvli o foIw AT YgH
HT T

(D) W3.CSS UM Huaed =&l &

What is not true about W3.CSS ?

(A) WB3.CSSisamodern, responsive, mobile

first CSS framework

(B) WB3.CSS provides equality for all
browsers

(C) WB.CSSprovides equality for all devices
(D) WB3.CSS is not the standard CSS

forg UM SR kT YA <1 U & &=
THEA & TI-19 The< &l GieH & fau feman

(D) ST § § HIE Tl

Which comparison operator is used to find
equality of type as well as content between
two variables ?

A) ==
B

N
Il
Il
Il

(
(
(© ===
(

D) None of the above
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54.

55.

56.

gfafshamia fire § foraw siem wwfq § 2
(A) 10 (B) 11
(C) 12 (D) 13

How many columns are supported in the
responsive grid ?

(A) 10 (B) 11
(C) 12 (D) 13

HTML 5 ¥ 9191 T <input> T TeAHe ol Tga™
Y2

A) IHA

B) X

C) e

D) SWa H ¥ #IE T2

Identify the valid new <input> tag element
in HTML 5 ?

(A) email
(B) letter
(C
(

(
(
(
(

fax

D) None of the above

)
)
etk | aRuse i

ek ST Tl fenan ST weh |

(A) wvar

(B) let

(C©) nothing

(D) set

Variables in JavaScript cannot be declared
using :

Eal el

(A) var

(B) let

(C) nothing
(D) set

57.

58.

59.

STEMfERE I sl GO sk H = & fag
fohg SIS 1 TN HHT ATTEIF € ?

(A) wvar

(B) let

(C) const

(D) SR H ¥ HIE T

Which keyword is a must to use when
JavaScript code is to run in older browser ?

(A) wvar

(B) let

(C) const

(D) none of the above

e e H st J e 2|
(A) s T (B) HITHTH ToH
(C) fte wed (D) TRRHE &oH

The body of the style sheet includes
(A) Style rules (B) CSS rules

(C) Sheet rules (D) Format rules

Teh AT G GAAITE STh ST 379 T
% RO S e ok fIg oe o $o & g
T ITINT @7 -

(A) ¥ S

(B) eI HH o
(C) AT Hd g5
(D) T 9 HE off 7

An online information retrieval tool that uses

the data of a web search engine to produce
its own results :

(A) Search Engine
B) Meta Search Engine
) Mega Search Engine

(
(C
(D) None of the above
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60.

61.

62.

FIITR MR T &1 ¥ gfmfed
SR 1 [@ifhd & |

(A) <i> (B) <ins>

Q) <u> (D) <em>

Browsers will usually underline inserted text
in the tag

(A) <i> (B)
Q) <u> (D)

<ins>

<em>

w3-container A fHEl «ft HTML Q?ﬁ'ﬁ? i
e Sren @

(A) 16px left only

(B) 32px left and right

(C) 16px left and right

(D) 32px right only

w3-container class adds a padding to any
HTML element :

(A) 16px left only

(B) 32px left and right
(C) 16px left and right
(D)

D) 32px right only

SIUS 1 FH HEdqU <head>
TeAHe % faT T HeR T

(A) et

(B) osufSr

(C) #HI=™

(D) foererst

The most important <head> element of a
webpage is a container for :

(A) Links

(B) Webpages
(C) Metadata
(D) Pictures

63.

64.

3. Wi H T fewhice Wi ol ugar & :

(A) T = oA

(D) SR H ¥ HE Tl

Identify the default font used in W3.Font.
(A) Times New Roman

(B) Arial

(C) Verdana

(D) None of the above

Teell SHeIvH TTeld B W THeT0 i & fau Th
T2 dheH e w0 & foag I

39 fopar S B

(A) if
(B) else

(C) elseif

(D) SR H ¥ HE T

is used to specify a new condition
to test if the first condition is false.

(A) if
(B) else
(C) elseif

(D) none of the above
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65.

66.

HeamE 1 90 eIt Ftfeharsst JHM & T widhe

A) CTRL+Shift+0

B) CTRL+AIlt+Shift+0
C) CTRL+AIt+Shift+F10
D) CTRL+AIlt+Shift+10

Shortcut keys for rotating canvas 90 Degree
clockwise is

A) CTRL+Shift+0

B) CTRL+AIt+Shift+0

~—"

(
(
(C) CTRL+Alt+Shift+F10
(

D) CTRL+AIlt+Shift+10

HTTP PUT fleeie Age &1 U9
ERISIGIES

(A) Tfde swaes it oiqeyg dem & fag
(B) TS TTRIHIN wed & forg

(€) ffde <wEst 1 Gerd S | ke &
ferw

(D) TS gwaesT & Hews g1 & e fremfea
%W & fau

HTTP PUT request method is used to :

(A) Return contents of a specified document
(B) Return header information

(C) Replace the specified document with
the enclosed data

(D) Execute the specified document with
the enclosed data

67.

68.

feriep [&c1erT <1 o1 9T % I

& o fepan ST €1
(A) I GelRE
(B) UE HoiRH

(C) TS & R 1 g2 IR =9 hl Wanfera
w9 Y IF <

(D) T 9 HE off 7

Quick Selection tool is used for the purpose
of :

(A) Copy Selection
(B) Paste Selection

(C) Find image edges and automatically
stops the selection

(D) None of the above

e e H ToIIHREe ST
Tl

(B) %

© =

(D) ST ¥ § HIE Tl
Exponential operator in JavaScript is :
A "

(B) %

© =

(D) None of the above
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69.

70.

EREINE <input> & “type” Torgroar 7 =1
TEM h

(A) et (B) <haid
(C) wafe (D) &=

Identify the invalid <input> tag “type”
attribute value.

(A) radiobox (B) checkbox
(C) submit (D) text
WIEA FAH F aR H T T S ?

(A) Had wEd e | gReia fafire wette
THRI R A B §

(B) Sfemt a R it Forms foel off weftite
TR AN feRaT ST TR ®

(C) WEA-FAY SHFARH SR H Tged BIdl

g

(D) WEA-FIH SFARHE Th HTe ¥ v
&It &

What is not correct about the Style class ?

(A) Apply only to specific element types
defined in the style sheet

(B)  Define styles that can be applied to any
element

(C) Style-class declarations are preceded by
an underscore

(D) Style-class declarations are preceded by
a period

71.

72.

73.

g =i 9 ol 311 & fou fohg wede =

ERINRER IS I K-
(A) exit (B) break
(C) default (D) out

Which statement is used to come out switch
block ?

(A) exit (B) break

(C) default (D) out

TER JS TeTehs™ &l SHREEES & 1 a9
__________ |

(A) ng-app

(B) ng-init

(C©) ng-model
(D) SR H ¥ HE T

Directive to initialize Angular JS application :

W3.css H afeieh feree &t 9gam &l
(A) w3-ol (B) w3-border
(C) w3-center (D) IW qeff

Identify the basic lists in W3.css.
(A) w3-ol (B) w3-border

(C) wB3-center (D) all of the above
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74.

75.

HIATATR FT5ed o o § 91 94 © 2

(A) wAfRTR 79 T ¢ & WEed & TH
STANTeRd!, Teh 1@eh A1 Teh ITANTehR] Tsic
(19, T &1l SIS GRI qRUIfd fehern S
BETIRS

(B) wWiEeW'‘HEhg', A1 UH WY ToAl Bl &

(C) TwelHzZd =1 sifan Toey *3 alel |
IR Tereed o HAeH W 7R & 7

(D) ISR TSI g R weed ISR g
TR reed W e ol §

What is true about Conflicting Styles ?

(A) Conflict occurs as styles can be defined
by a user, an author or a user agent (e.g.,
a web browser)

(B) Styles “cascade,” or flow together

(C) Ultimate appearance of elements
depends on a combination of styles
defined in several ways

(D) Styles defined by the user agent take
precedence over styles defined by the
user

Teh G 33T TellHe § S &hlE

Teeie TRIRATET & r] it 2 |

(A) div (B) span

(C) color (D) width

is a generic inline element that
applies no inherent formatting.
(A) div (B) span

(C) color (D) width

76.

77.

fafim frafaai & amam ) fafiwe fspenet =1 =

& fau feg Safere W &1 3 fom
ST g ?

(A) if

(B) for

(C) while

(D) switch

Which JavaScript statement is used to

perform different actions based on different
conditions ?

(A) if
(B) for
(C) while

(D) switch

EEEC s S
(A) Tazwre w@l &1 T gahih

(B) &l @t gexie S WU €

(C) TP d% Ugd & fon savesw

(D) deIETEE I Tgal U

An index page is

(A) an index of encyclopedia articles
(B) where all Internet data is stored
(C) required for access to the Internet

(D) the first page of a website
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78.

79.

80.

<iframe> T & TN H ki T Tl & ?
(A) I8 TaIEA T

(B) Tl 3 SHEST I A9 TIAITATA
T H TS i

(C) I T
(D) (A) 3R (B) 3 @&l €

Which is true about <iframe> tag ?

(A) Its inline frame

(B) Embed another document within a
current HTML document

(C) None
(D) Both (A) and (B) are true

g & Wl HIYR FARA g fFE Jrernia
1 ST foRa ST B 2

(A) I (B) THIM
(C) rrdt/ sTEdt (D) e

What protocol is used by all computer
connections to the Internet ?

(A) UDP (B) FTP
(C) TCP/IP (D) Telnet
THIEUAS 1 37 i

(A) ARTIS FeE HA THIERH

(B) HRIIYST $E< Hel THISHH

(C) WU $eE HES TRAeSH

(D) HRIIYS $Ee HAS TR o]

MIME stands for .

(A) Multipurpose Internet Mail Extensions

(B) Multipurpose Instant Mail Extensions

(©) Multipurpose Internet Message
Extensions
(D) Multipurpose Instant Message

Exchange

81.

82.

SGML 1 31 € :
(A) TSHAM TTRARSE AHSTT TS
(B) ¥eITEM Telleel HehaTd At

(C) e TRAESE AHT TS
(D) ¥e3TeH Mithehel HIHSTT et
SGML stands for :

(A) Standalone
language

generalized markup

(B) Standalone global makeup language

(C) Standard generalized markup language

(D) Standalone Graphical markup
language
T 9 S WER JS & fou a1 Feq 76 § 2

(A) TE TH TETShe FHeh §

(B) ZH <script> T %I ITANT Hlch SirSl STl
g

(C) ¥g C ¥ foan man u Hreeh ©

(D) WIER JS HTML foRiwarsti s foar sean
g

What is not a valid statement for Angular
Js?

(A) Itis a JavaScript framework
(B) Itis added using <script> tag
(C) Itis a framework written in C

(D) Angular JS extends HTML attributes
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83.

84.

85.

SR FI oS S |
(A) font-length : bold
(B) font-weight : bold
(C) font-style : bold
(D) text-align : bold
makes the text bold.
(A) font-length : bold
(B) font-weight : bold
(C) font-style : bold

(D) text-align : bold

SN T IS H CSS TS HE B |
(A) <html> (B) <style>
(C) <css> (D) <xml>

tag embeds CSS in a webpage.
(A) <html> (B) <style>
(C) <css> (D) <xml>

=1 4fén uradt # fitfen St &t ogafa 82
A) & B) &
(C) T FETHRd (D) DV HARAME

Are the negative values allowed in padding
property ?
(A) Yes (B) No

(€) Cannot say (D) May be

86.

87.

BEReFRE ThH _ ®

(A) TR F WY TR TR IEEA

(B) 1000 ¥RI § 31k 1 TR

(C) e foEH a1 el & feian wnfier €
(D) SR H ¥ HIE T

Hypertext is a :

(A) Text with heavy text jargons

(B) Text more than 1000 words

(C) Text which contains links to other texts

(D) None of the above

HI T g AaffHd @re 7 7 7 2
(A) SHANT-9%E
(B) SHAMT-Thi
(C) Thidea T
(D) feshittica =

Which is not a main built-in search
mechanisms ?

(A) dialog-based
(B) dialog-free
(C) Incremental Search

(D) Decremental Search
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88.

89.

90.

3TfYepTier W3C TR o & foe Terd vgat

i |1 CSS fafest =ftra feman o
(A) CSSlevel 2 (B) CSSlevel 0
(C) CSSlevel 1 (D) CSS level 2.1

Which CSS specification was first declared to
become an official W3C Recommendation ?

(A) CSSlevel 2 (B) CSSlevel 0
(C) CSSlevel 1 (D) CSS level 2.1

I H oY Hel T T e © ?

(A) =g

(B) WrUS

(C) THrRe

(D) EsheHT

Which is not a valid meta search engine ?
(A) Yahoo

(B) Startpage
(©)

(D)

Excite
DuckDuckGo

IS GIdihlic ol SYANT
ERISIES

(A) WA i fesed 3R G a9 &

(B) ®E fewh 9 & A H X WEell &
T

(C) TSl ohl WIS TH T & o Ay

(D) R | FIEE hl X Hgall o LA

. *fam

File protocol is used for

(A) deciding the design and structure of the
file

(B) transfer of computer files from hard disk
to main memory

(C) deciding the storage space of files

(D) transfer of computer files from a server
to a client

91.

92.

Css 2 # ufufaad Torq Hifesn ghR & qgue
™ ?

(A) TeETS (B)

(©) ufera (D)

Identify the incorrect media type defined in
CSS 2.

(A) Handheld (B) Braille

(C) Arial (D) Print

iete e § oTeTT- 37 31geq Sy fafds &y ?

(D) SR H ¥ HE T

How to specify individual items in an ordered
list ?

(A) LI
(B) UL
(C) oI

(D) None of the above
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93.

94.

o T T Ol 37T SUA E
fere femen T %1

(A) Teh Yl i el el o9 o foeft
311 2 | Y fohar o

(B) UgI © B Toh TIF 1 T T HEA
(C) ¥ermM g & & fau
(D) T 9 & off T

Lasso tool is best used for :

(A) Cleaning up a selection that you started
with another tool.

(B) Deselecting the selection already done
(C) Remove a selection

(D) None of the above

SEfEhe o Teh JRusel sl ST I i &
foru forg AT 1 39T foRar TTaT © 2

(A) instanceof
(B) gettype
(C)  typeof
(D) W § § HIE T

Which operator is used to get datatype of a
variable in JavaScript ?

(A) instanceof
(B)  gettype
() typeof

(D) none of the above

95.

96.

TSI s 1 |isha H % g 3idsne # -
(A) CTRL+AIt+Shift+G

(B) CTRL+AIt+G

(C) CTRL+ Shift+G

(D) CTRL+AIlt+Shift+0

Shortcut keys to activate Gaussian Blur :
A) CTRL+Alt+Shift+G

B) CTRL+AIt+G

~

(
(
(C) CTRL+Shift+G
(

D) CTRL+Alt+Shift+0

w3—pane1ﬁ5ﬁﬁﬁﬁaﬁ?@$ﬂ7{ﬂ@%:

(A) w3-panel ¥ g TR 1 & fag
THIH HE ¥

(B) w3-panel FI9 shieH i & & fag
THH HE ¥

(C) w3-panel ¥ 3TeTe YER & o fag
ToheH W E

(D) |t e T 2

Which statements are correct regarding
w3-panel ?

(A) w3-panel class is perfect for displaying
notes.

(B) w3-panel class is perfect for displaying
quotes.

(C) w3-panel class is perfect for displaying
alerts.

(D) all statements are correct.
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97.

98.

TR 3G, ok TR IR TSR TR i T8dH
FH & fag 1 ST feohan S T

(A) ¥ de
(B) 39 =R
(C) SlFHe Eeer
(D) THM geer

are used to identify user input,
user action and browser actions.

(A)
B) Event handler

Input handler

Document handler

Action handler

CSS & =ifeR Higel o I H o1 §el & 2

(A) I8 TelHed & IR IR Eid MU i
SR Rl TR el &

(B) W TeHe 1 shee shad Ufen ¥ oy
BT e

Jdeh TATHS hl Shee had Tah drel 9
forrgen ®

Yeh TATHS ohl shoe shael Ueh HIfSH §
fRea e

What is true about the Box model of CSS ?
(A)

©)

(D)

It defines a virtual box drawn around
elements

(B) Content of each element is surrounded
by padding only

Content of each element is surrounded
by a border only

Content of each element is surrounded
by a margin only

99.

100.

forslt <%aTersT bt WIERAt o Teh Tords WFT ohl T
FH IR IHHT yfaffrea & & fag fm o1 =

ST TR S g 2

Bl (B) TR
anfémat ECAES

(A)

©) (D)
Which tag is used to render and represents
an independent piece of content of a
document ?

(A) Blog (B) Newspaper
(C) Article (D) Record
STTETREh < H Weh TelH< ol EQler I

hich UerdH foRan <11 ekl % |
getElementsByName

(B) getElementsByld
getElementsByClassName

I gt

An element can be accessed in JavaScript
using :

getElementsByName
(B) getElementsByld
getElementsByClassName

All of the above

-00o0-
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